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B.Com. (Acc. & Fin.) DEGREE EXAMINATION, NOVEMBER 2016.
III YEAR — V SEMESTER

Major Paper XVI –  FINANCIAL MANAGEMENT
Time : 3 hours
 Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. Define Financial Management.

2. What do you mean by Profit Maximization?

3.  What is Weighted Average Cost of Capital?

4. What is Dividend Policy?

5. What is Working Capital?
6. Write short note on Working Capital Cycle.

7. A company has EBIT of `3,00,000; `10,00,000, 7% debentures. The Equity Capitalization rate is 10%. Calculate the Value of Equity under (NI) Net Income Approach.

8. Sri Ram industries ltd issued 10,000 10% debentures of `100 each. 

The tax rate is 50%. Calculate the cost of debt.

9. B Ltd., issues 10% preference shares of `100 each at a discount of 5%. The shares are redeemable after ten years and the issue expenses are 5%. 

Calculate the effective Cost of Redeemable Preference share capital.

10. Calculate the operating Leverage; sales 10,000 units @ `3 per unit; 
Variable cost per unit `1; fixed cost `10,000.

11. The following data relates to Jhordan Ltd. EPS `5.  Retention ratio 20% Capital rate 10%. Rate of return 15%. Determine the market price per share under Gordon’s Model.
12. Earnings available for equity shareholders = `1,00,000; 
Number of equity shares = 1,000; Dividend distributed per share = `7.

Compute retained earnings per share.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions

13. What are the Roles of Finance Manager?

14. What are the Advantages of Adequate Working Capital?

15. Dewey Ltd., has an EBIT of `4,50,000. The cost of debt is 10% and the outstanding debt is `12,00,000. The overall capitalization rate (Ko) is 15%. Calculate the total value of the firm and equity capitalization rate under NOI approach.

16. Nacho ltd. has issued 40,000 shares of `10 each fully paid. The company has earned a profit of   



`40,000 after tax. 

a) The market price of these shares is `16 per share. 

b) The company has paid a dividend of `0.80 per share. 


Calculate the cost of equity on the basis of


 i) Dividend yield method. 
And 
ii) earnings price method.

17. Y Company earns `5 per share which is capitalized at the rate of 18% and has a return of 10% on investment. According to Gordon’s model what should be the price per share at 75% retention ratio? Is this optimum payout ratio according to Gordon’s Model?


18. A New projects which X Ltd. considers requires an investment of `15 lakhs. Interest on term loan is 12% and tax rate is 50%. The Debt-Equity ratio is 2:1 is resisted by the institution. Two alternative methods of financing are under consideration.

(a) Issue of equity shares for the entire 15 lakhs rupees.

(b) Issue of Debt-Equity in the ratio of 2:1


Find out the point of Indifference for the project.

19. M/s.Sanjiv Bros. have consulted you to advise them, is the average amount of Working Capital required to be employed in the first year’s trading. 

i) Average amount of  Stock:

Finished goods 


`30,000 p.a

Raw material 


`60,000 p.a

ii) Average Credit given:

Inland Sales 4 weeks

 `2,60,000 p.a

Export Sales 2 weeks credit `6,50,000 p.a

iii) Lag in Payments:

Overhead 4 weeks 

`3, 90,000 p.a

Wages 1 ½ weeks 

`2, 60,000 p.a

iv) Add 10 % to allow for Contingencies.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions
20. From the following  You are required to calculate Working Capital Requirements of SAI  Ltd.: Assume that all expenses & income were made at an even rate for the year
	Particulars
	Average period of credit
	Estimates for first year

(`)

	Cash sales

Average amount of stock and WIP

Average amount of undrawn profit

Credit sales

Purchases of materials

Wages

Overheads:

Rent

Salaries

Commission

Other overheads
	---

---

---

2 months

6 months

1 ½ weeks

6 months

1 month

1 month

2 month
	2,00,000

4,00,000

3,00,000

60,00,000

26,00,000

19,50,000

1,00,000

2,00,000

6,00,000

7,50,000


21. The following information available in respect of a Firm. 



Earnings per share   = `40



Cost of capital (Ke) = 10%


Find out the Market Price per share in the following cases, 


using Walter’s Model:
	Cases
	Dividend payout (D)
	Rate of return (r)

	i)
	0 %
	12 %

	ii)
	50 %
	10%

	iii)
	100 %
	8%


22. Anand Ltd., is capitalized with `10 lakhs, divided into 10,000 shares of `100 each. The management desires to raise another `10 lakhs to finance an expansion plan. There are four alternatives.

(a) All issuing Equity Shares.

(b) Equity Shares for `5 lakhs and 5% Debentures for `5 lakhs.

(c) All debentures carrying 6%

(d) Equity shares of `5 lakhs and 5% preference shares of `5 lakhs.

You are required to calculate the earnings per share (EPS) under each of the above plans if the expected earnings before interest and taxes is: `1,20,000 Assume a tax rate of 40%.
23. A company was recently formed to manufacture a new product. It has the following capital structure:
	Particulars
	`
( in Lakhs)

	Equity share capital (48,000 shares)
	16,00,000

	9% Debentures
	10,00,000

	7% preference shares
	4,00,000

	Retained earnings
	10,00,000

	Total
	40,00,000


a) The market price of equity shares is `80. A dividend of `8 per share is proposed.

b) The company has marginal tax rate of 50% and shareholder’s individual tax rates is 25%.

Compute after tax weighted average cost of capital of the company.
———————
[P.T.O.]
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